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Chapter 1

Accounting Equation

Exercise 1. .

The accounting equation is Assets = Liabilities + Capital

Items owned by a business that have monetary value are Assets.
_Capital is the interest of the owners in a business.

Money owed to an outsider is a liability.

The difference between assets and liabilities is Capital.

[@ An investment in the business increases Assets and_Capital

To purchase on account is to create a liability.

Exercise 2. . I

Tell whether each of the following accounts is an asset , a liability,
a capital , a revenue , an expense, or none of these.

Accounts payable (L) Salaries expense (E)
Service fees income (R) Machinery (A)
Prepaid insurance (A) Notes payable (L)
Cash (A) Supplies (A)
Telephone expense (E) Accounts receivable  (A)
Owner’s capital © Unearned service fees (L)
Rent expense (E) Withdrawals (N)
Equipment (A) Retained earnings ©
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THE DOUBLE - ENTRY SYSTEM
DEBITS AND CREDITS

Chapter 2

Bxercise 1 -

To classify and summarize a single item of an account group, we use a form
called an account.

The left side of the account is known as the debit. While the right side of the
account is known as the credit.

Expenses are debited because they decrease capital.

1 The schedule showing the balance of each account at the end of the period is
known as the trial balance.

Exercise 2 -

Indicate whether the following increases and decreases represent a debit or
credit for each particular account.

(a) Capital is increased Cr
(b) Cash is decreased Cr
(c) Accounts Payable is increased Cr
(d) Rent expense is increased Dr
(e) Equipment is increased Dr
(f) Fees income is increased Cr

(g) Capital is decreased through drawing  Dr

-
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ercise 3. R
Description debit credit
Cash 20.000
Accounts Receivable 14.000
Supplies 6.000
Equipment 18.000
Accounts Payable 9.000
Notes Payable 11.000
Capital 32.000
Drawing 4.000
Rent expense 5.000
Salaries expense 8.000
Supplies expense 2.000
General expense 1.000
Fees income 26.000
Total 78.000 78.000
ercie 4 R
Description debit credit
Cash 6.000
Accounts Receivable 12.000
Supplies 500
Prepaid insurance 2.000
Machinery 10.000
Accounts Payable 7.000
Notes Payable 2.000
Unearned service fees 1.000
Owner’s capital 16000
Withdrawals 1.200
Rent expense 1.800
Salaries expense 5.000
Telephone expense 2.500
Service fees income 15.000
Total 41.000 41.000




Chapter 3

FINANCIAL STATEMENTS

Exerise 1 . I

The main part of financial reporting is a financial statements.

The statement that shows net income for the period is known as the income
statement.

Two groups of items that make up the income statement are revenues and
expenses.

Assets must equal liabilities plus owners’ equity

Expense and income must be matched in the same period.

Exercise 2. .

Tehran Institute
Income Statement
For the month ended July 31, 2018
Revenues:
Service fees income $15.000
Expenses:
Rent $1.800
Salaries 5.000
Telephone 2.500
Total expenses (9.300)
Net income 5700




IRAN Servicing Institute
Balance Sheet

July 31, 2018
Assets: liabilities & Owner’s equity
Cash $ 6.000 |Notes payable $2.000
Accounts receivable 12.000 Accounts payable 7.000
Supplies 500 Unearned service fees 1.000
Prepaid insurance 2.000 Owner’s capital 20.500
Machinery 10.000
Total assets 30.500 Total 30.500

Chapter 4

Merchandising Enterprises

Exercise 1 - I

Merchandise Inventory (ending) appears as an asset in the balance sheet.
The only account figure that appears on both the income statement and
balance sheet is Inventory

The beginning balance of Merchandise Inventory would be the same amount
as the ending balance of the previous period.

The account with zero balance at the beginning of the year would be those
involving Revenues and expenses

VO)



Exercise 2

cost of goods sold = ( 100.000 + 150.000 - 60.000) = 190.000
cost of goods sold = ( 75.000 + 150.000 - 50.000) = 175.000
cost of goods sold = ( 50.000 + 150.000 - 30.000) = 170.000
cost of goods sold = ( 0 + 150.000 - 10.000) = 140.000

Exercise 3 |

cost of goods sold = 30.000 + (70.000 - 3.000) - 34.000 = 63.000

Exercise 4

Income statement
Sales Income, $103.000
cost of goods sold:
Merchandise Inventory, Jan. 1, 2000 $30.000
Net Purchase 64.000
Merchandise Inventory, Dec. 31, 2000 $24.000 ('70.000)
Gross Profit 33.000
Total expenses 27900
Income from Operations 5.100

Exercie s .

net sales is 90.400 dollars

cost of goods purchased is 33.200 dollars
cost of goods sold is 30.200 dollars
operating expenses is 42.500 dollars
gross profit is 60.200 dollars

[ net operating income is 17.700 dollars



Chapter 5

Merchandising Enterprises

Sxercise 1 - I

Prime costs = direct material + direct labor

Conversion costs = direct labor + overhead

Manufacturing Costs = direct material + direct labor + overhead

All three of inventory accounts are classified on the balance sheet as current
assets.

Exercise 2 .

Direct material? 9.000 Direct labor? 12.000
Manufacturing overhead? 9.000 Manufacturing Costs? 30.000

Exercise 3 . I

‘What is the amount of materials available for use? 200+ 25 =225

Using the data for question 1, what is the amount of direct materials used?
225-40=185

Using the data for question 1, what is the amount of manufacturing cost?
500+185 = 685



Chapter 6

Property, Plant and Equipment

Exrcise 1 y

The market value of a fixed asset at the end of its service is known as a
Salvage

The uniform distribution of depreciation over the life of the asset is known as
the Straight-Line method.

The Sum-of-the-Years’-Digits method is used to write off the asset based on a
series of fractions.

The method that produces the largest amount of depreciation in the earlier
years, then rapidly declines, is known as the Double-declining-balance method.
When income produced by an asset is the same each year, the recommended
method of depreciation is Straight-Line method

[ When use rather than time is the key factor Units of Production is the
preferred method of depreciation.

Bxercise 2 - I

(a) The straight-line depreciation method? (38.000 - 2.000)/ 8 = 4.500
(b) The double-declining-balance method?

Qoo =YAooo s Y/A Jsl Jo

YIYO = (YAooo _QQ00) s Y/A pgo Jlw
OFFANYD = (YAooo NPAYD) % Y/IA  pow Jlo
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(c) The sum-of-the-years’-digits method?

Aooo =(YAooo Yooo ) AIVF
Yooo =(YAooo Yooo ) V/VF
Fooo =(YAooo Yooo ) f/VF
Dooo =(YAooo _Yooo ) OVF
fooo=(YAooo Yooo ) f/VF
Yooo =(YAooo _Yooo )sxV/VF
Yooo = (YAcoo _Yooo )sxY/YF
Yooo =(YAcoo Yooo ) \/VF

Exercise 3

(28000 —4000) / 32000 = 0/75
0/75 * 7200 = 5400

Depreciation Expense, machine 5.400

Accumulated Depreciation, machine

Jsl Jlo
ped Jbw
Py Jlo
ol Jbo
iy Jbo
s Jlo
e JLo
pte Jlo

5.400



Juad byl Jeu

3 ylasliw! w 3 laslow! 69 Sbos IS .
g @ Jas
- (B0 i (5910 (b 25 Li) (Cadns) 8 ySlos (b (S L)
A 5 Ol dez
Y >y a8 ee I8
‘_g)lo.gl..«}
Y BLUEVH INERRY 2ol
by Gl dy |Gl S o
s L Lg)l..\;.L..o SMasl
\ a2 pll 1) @SS g0 5l (S s s e g ez o
O 31 yocioweo & pod
Yo Jead (S L 6 pod
Yo 3l Juad o y0i




0yl 85 (1l 05 (65,58 g olae cqalio (ST ,3k U1 YoV o 5o ieSiul aelgd L sl
S gaie Lojame (gl g dez i o Slyolo Db)l5L

e ol )l pl (s lules (slas st

OYAD) o Sl ) sz )b o9l o olgil

5 s o lw wlMhas! ) eslitwl sl Mol S50 GbI aclgd Yoo jo5eSa]
9 Sl st ;36 (g pilb dgman oo ((Mollim (S )5L BUT Age (el
SEL sl iesh

OYAD) w048 Ol Ll ) paass b Lo Jlase ws¥G [

5 Ghos Olejle (GRS 5 (148> 5 (35 gmapo SlanlsS il 18 (eSS (5 ol
P e 553,500 0358 e lil5e i Bs i 5 S35l Sl sBisel syl
Sl lsge (S i8I Slles ailabs

OFA0) s S8 185 & oaw placs slas sl (5 o5 50 auls> slozal p . Lelol L e
OYAF) pgas ol 23105 LaS5 ca pla i ( I o (63,50 00l5z 3
JSam wlagls ol lasl pind Ol wolide dgaus cilie (goliwl ol Liel L pl8 & 15" (B
plo olRasls @l )Lzl ) paass (b ol B ke Loy e (LS e to0 Sloe (paie
OY) g

Joeil. Lerner, M.S., Ph.D. Bookkeeping and Accounting, Third Edition (2004)
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